—— A
N = 0] &F AF S & AN A
2021 S0 A LS H HEALS I
EA: HEAS D
HE: LAY BA
Sl 442 RSB JIBRE CERED
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
=& 22,745,637 21,825,223 920,414
= 4,823,450
g 9,425,000
= 8,497,187
R A A e = 22,706,067 21,783,493 922,574
= 4,823,450
= 9,425,000
o 8,457,617
SAE SEIE JIBIRE 13,925,773 12,197,050 1,728,723
= 2,547,600
g 5,341,000
o= 6,037,173
SMESEALSAHE (HEAY) 1,014,000 1,470,000 A 456,000
403 XX SRS K 20| & 1,014,000 1,470,000 A 456,000
01 AXESHHE2E X 1,014,000 1,470,000 A 456,000
O=AEAIE AIEINA 1,014,000, 000 1,014,000
F=MEINSFSAEXNA 209,800 292,100 A 82,300
403 XX SHHS K20 & 209,800 292,100 A 82,300
1 AXSHHAA2E R 209,800 292,100 A 82,300
O2H0] HsHE AIEX& 79,500,000 79,500
OZEHMAF AlE XS 17,100,000 17,100
O0rEZ JIZ28USAE N 64,000,000 64,000
OXMNEINNZ2LSHED NI(FE)
19,200,000 19,200
OAE 2ATE StHEAIE K& 30,000,000 30,000
=AME AHER XS 143,000 202,800 A 59,800
308 ANXISHMSOIA 143,000 202,800 A 59,800
01 IXHHIMNEXS 73,000 117,800 AN 44,800
O& JIZE 6x &gs = XS 48,000,000 48,000
A AHIESE ALY 25,000,000 25,000
1 BIN2SHUSTEANAEAISEH 70,000 85,000 A 15,000
OAMHIX 2He & o= &= 70,000,000 70,000
Polelge-EreS SV DNEE 25,993 27,300 N 1,307
= 20,000
o= 5,993
308 XX SHAHSOIH 25,993 27,300 A 1,307
= 20,000
=} 5,993
01 AIXSHMENEXZ 25,993 27,300 N 1,307
O™ HE LA AHA 25,993,000 25,993
= 20,000
& 5,993




FAM HEMSD
M aMMQ RY
Sl 442 RSB JIBRE CERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
=oE HAIAME JHE K& 392,950 2,683,950 22,291,000
308 XXX S0 A 392,950 451,950 A 59,000
01 AXSHBAELS 112,950 171,950 A 59,000
O=dAlE TEMW X2 76,950,000 76,950
O=sEOEZIE+8 Es&o ZEMAA
36,000,000 36,000
N 3IN2SUHUS3 LS A I 280,000 280,000 0
O=xAAE GHAAE HH 160,000,000 160,000
OxttAlE =5 & E3 60,000, 000 60,000
OVEAT U 2240 013 2& X2
40,000,000 40,000
O=2U =4 F M2 A EIHAE
20,000, 000 20,000
SEHE TR A 96,200 80,600 15,600
= 74,000
< 22,200
308 XXM SO0 A 96,200 80,600 15,600
= 74,000
< 22,200
01 HIXNHHBNEES 96,200 80,600 15,600
OgdEHET M 96,200,000 96,200
= 74,000
< 22,200
=82 NGgA A& 23 XA 100,000 228,000 A 128,000
403 XIS E X201 H 100,000 228,000 A 128,000
01 XM A=2EE 100,000 228,000 A 128,000
O=x=g2 XNadga A&2st XI& 100,000,000 100,000
SASMTISAEHE (HEAY) 1,542,000 1,560,000 218,000
403 A X EHHS =0l A 1,542,000 1,560,000 218,000
01 X EHHMA=LE L 1,542,000 1,560,000 A 18,000
O3 SXINBANE XA 1,542,000, 000 1,542,000
HUH MAMAAL XS3 12,480 0 12,480
= 9,600
< 2,880
403 X SHHSA=0l& 12,480 0 12,480
= 9,600
= 2,880
01 HXSHMA2EE 12,480 0 12,480
OFLE MAALE IS5 12,480,000 12,480
= 9,600
< 2,880
SMASMALHEHIZS 5,301,000 3,534,000 1,767,000
s 4,275,000
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 1,026,000
403 MtXISHHSA=0l& 5,301,000 3,534,000 1,767,000
s 4,275,000
< 1,026,000
01 XM A=2E X 5,301,000 3,534,000 1,767,000
Ox&ASMHE HAFHX 24 5,301,000,000 5,301,000
s 4,275,000
< 1,026,000
NI AH =82 =5 38,000 100,000 A 62,000
S OHHE At
= 19,000
< 19,000
308 A EHSOIA 38,000 100,000 A 62,000
= 19,000
< 19,000
113/ 2SoHUHSZHEAEALS I 38,000 100,000 A 62,000
OXAH A =tt2 =5 SSOANE AL
38,000,000 38,000
= 19,000
< 19,000
SUSUTAERELH(FPC) X 1,305,850 1,308,300 A2,450
s 1,066,000
< 239,850
403 UHXSHHSA=0l& 1,305,850 1,308,300 A2,450
s 1,066,000
< 239,850
01 HXSHHMA2E X 1,305,850 1,308,300 N 2,450
OFNMSAXNHERSHE(FPC) 1,305,850,000 1,305,850
s 1,066,000
< 239,850
A2 Ml MEBALE XA (HEAY) 649,500 630,000 19,500
403 XIS E X201 & 649,500 630,000 19,500
01 HAXSHMA=2EE 649,500 630,000 19,500
O=¢t2=2 XMl HdEAIE 649,500, 000 649,500
Y B8 UE EE 69,500 80,000 210,500
201 Let2d] 69,500 80,000 A 10,500
01 At 22l 69,500 80,000 210,500
Osd 848 =¢2 82 ¥ 21 60,000,000 60,000
Osd H2 242 E22 HMA(UHAEZY)
,500,000 9,500
FSHA AMATHA 2= 1,681,500 0 1,681,500
= 1,425,000
< 256,500
403 MHXSHHSA=0l& 1,681,500 0 1,681,500




FAM HEMSD
M aMMQ RY
el =42 RSIHS JIEI= (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 1,425,000
= 256,500
01 HIXSHMA2E X 1,681,500 0 1,681,500
OfsSHH AMAMHHA 2= 1,681,500,000 1,681,500
= 1,425,000
< 256,500
OLEZ JtE S ZUXN E=sAME X 944,000 0 944,000
= 800,000
< 144,000
403 XIS E X201 & 944,000 0 944,000
= 800,000
< 144,000
01 AXSHHMA2E = 944,000 0 944,000
OOtE & JtZ &2 0UX EsAd X
944,000, 000 944,000
= 800,000
< 144,000
=4 IRl 2 AHIFE M 400,000 0 400,000
= 200,000
< 200,000
308 XtXIEHH SOl A 400,000 0 400,000
= 200,000
< 200,000
3 2SOHEE & X 2 A I 400,000 0 400,000
O==4te JtXl & AHIE& M 400,000,000 400,000
= 200,000
< 200,000
oMLY & e 2,980,376 3,126,232 A 145,856
= 1,907,380
< 1,072,996
ZANE HESIXE ALY 305,000 400,000 95,000
= 200,000
< 105,000
308 AAIEHHSOIA 305,000 400,000 295,000
= 200,000
< 105,000
113 2SoHUHSBHEAEALS I 305,000 400,000 A 95,000
OZANYAHESIXNEA 305,000,000 305,000
= 200,000
< 105,000
HEAZ Y EEH 25t 90,000 150,000 A 60,000
403 MtXISHH S =0l & 90,000 150,000 A 60,000
01 HXSHMA2E X 90,000 150,000 A 60,000
ONEANTLHH23 2=0EH X&
90,000, 000 90,000




FAM HEMSD
M aMMQ RY
SRl AMNYSE o e CERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SARAMY FHY Y |4 6,556 6,758 N 202
201 £B-2d| 1,539 1,620 A81
01 At 22l 1,539 1,620 A81
OOEH &Y 23AIY Bt S 22 (0l
AHE 2 1,539,000 1,539
202 o4l 2,309 2,430 A121
01 = LH 4 HI 2,309 2,430 A121
SAARIER U SAAEAHISE (AT
2,309,000 2,309
203 ¥R =&l 2,708 2,708 0
03 AIZ=XH I =AH| 2,708 2,708 0
OUELY ARFX(0AEZ) 2,708,000 2,708
TAHES NG =LH SR 853,170 736,633 116,537
= 793,650
= 59,520
308 X EHSOIA 853,170 736,633 116,537
= 793,650
< 59,520
01 HIXNHHNBNEELS 853,170 736,633 116,537
OxXHEelXNSE =&X2H AY 853,170,000 853,170
= 793,650
< 59,520
FHHEZ XA 181,070 235, 161 A 54,091
= 160,440
< 20,630
308 XXM SO A 181,070 235, 161 A 54,091
= 160,440
< 20,630
01 X HHILEES 181,070 235,161 A 54,091
OFANWEZE X2 (AtL) 181,070,000 181,070
= 160,440
= 20,630
HFEEZRNE(2E) 6,580 6,580 0
= 3,290
< 3,290
201 Let249H] 2,000 2,000 0
= 1,000
= 1,000
01 At 22l 2,000 2,000 0
OFANEIERNR(2Y) 2,000,000 2,000
= 1,000
< 1,000
202 o4dl 4,580 4,580 0
= 2,290
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SN SH
SUMRTY L KL

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
== 2,290
01 = LH o4 1l 4,580 4,580 0
OFHONHEFHNIA(2F) 4,580,000 4,580
= 2,290
< 2,290
HOHHEX LY XA 38,000 38,000 0
308 XX EHHSOIA 38,000 38,000 0
01 AXNSHHEBANEES 38,000 38,000 0
OAlZ AUHAEXNALEH XA 38,000, 000 38,000
off k=4 HHE XA HEH 1,500,000 1,500,000 0
= 750,000
< 750,000
308 XXM SO 1,500,000 1,500,000 0
= 750,000
< 750,000
1132 SoHUHeSBHEAEALS I 1,500,000 1,500,000 0
O =4t EHEXKJ EEH 1,500,000, 000 1,500,000
= 750,000
< 750,000
=g ¥ s4 5,799,918 6,460,211 A 660,293
= 368,470
s 4,084,000
< 1,347,448
SAIE SZEINA ALY (M SHARE) 80,000 70,000 10,000
403 MtXSHHSA=0l& 80,000 70,000 10,000
01 XM A2E X 80,000 70,000 10,000
OSAIEH E3ME AtY 80,000, 000 80,000
oy & dHE4d 153,950 102,600 51,350
403 MtXISHHE X201 & 153,950 102,600 51,350
01 XM A=2EE 153,950 102,600 51,350
oogergyd & g4 57,950,000 57,950
ox&guge a4 96,000, 000 96,000
HESESXNJHEH X2 500,000 500,000 0
= 250,000
= 250,000
308 XXM S0 A 500,000 500,000 0
= 250,000
< 250,000
N 3JN2SHUe3&EAE A 500,000 500,000 0
OHESSNAME XA 500,000, 000 500,000
= 250,000
< 250,000
HEMEFLO0E AAREHERNS AL 118,470 96,947 21,523




EA: HEAS D
M aMMQ RY
Sel ofENY ¥ s4 (29l & 2)
(o
SA BB (SH) - NRAY - B Ol At o %E& HRE2
= 118,470
308 XX G SO0l & 118,470 96,947 21,523
= 118,470
01 AIKISHHMEMNEXZ 118,470 96,947 21,523
OWHEMENISARENEXR 118,470,000 118,470
= 118,470
AT HEH e 4,411,586 4,902,514 A 490,928
Fas 3,909,000
& 502,586
403 XX SRS K20 & 4,411,586 4,902,514 A 490,928
Fas 3,909,000
& 502,586
01 MXHHXNE2BE =X 4,411,586 4,902,514 AN 490,928
OAGC HEIMNY 4.,411,586,000 4,411,586
g 3,909,000
o=t 502,586
NS5 197,500 79,000 118,500
= 175,000
= 22,500
308 AXISHHSOIH 197,500 79,000 118,500
= 175,000
= 22,500
01 AIXSHMENMNEX= 197,500 79,000 118,500
OX<EAek2d3 197,500,000 197,500
g 175,000
= 22,500
HEAHSIH HE XA 72,000 0 72,000
403 XX SHHS K20 & 72,000 0 72,000
01 XIS A=Z2E X 72,000 0 72,000
OEAHg & 72,000,000 72,000
HEHENEDNS X4 85,500 171,000 A 85,500
403 XX SRS K20l & 85,500 171,000 A 85,500
01 XIS A=2E X 85,500 171,000 A 85,500
OEHEANEDN=ZS =4 85,500,000 85,500
HEH 2=s&JE =4 153,000 300,000 A 147,000
403 X+ IS A=20l & 153,000 300,000 A 147,000
1 XS AEE X 153,000 300,000 A 147,000
OEH Z2SZAE ZH(HAHEZ)
153,000,000 153,000
W0 SAIHNEY 24 15,912 38,000 N 22,088
403 XX SRS R 20| & 15,912 38,000 N 22,088
01 MXHHE2E =X 15,912 38,000 N 22,088




2N
X ZH -
L= B

el

2

E4 D
st B4
D/ IETRTRE= 3%

K- EH3 B (3H) - HSAY - Ba2 il HDS2
O3 SAEHNY SH(0AEZY
15,912,000 15,912
=EESAE XA 12,000 0 12,000
403 XS H S0l & 12,000 0 12,000
01 RXISHAE 2 X 12,000 0 12,000
OEEFAAE N3 12,000,000 12,000
HHSHHH(HE=AE ) 39,570 41,730 AN2,160
AU (HEarH ) 39,570 41,730 AN2,160
2AH(0Eag ) 39,570 41,730 AN2,160
201 Bt A | 18,360 19,440 A 1,080
01 AP 22l Yl 18,360 19,440 A 1,080
QB2 H| (M AHE ) 18,360,000 18,360
202 4] 18,360 19,440 A 1,080
01 2LHOHI 18,360 19,440 A 1,080
Ol (0l &HE ) 18,360,000 18,360
203 € R =&lY| 2,850 2,850 0
04 2SI L RF=AH| 2,850 2,850 0
OBMAsgd2 =Xl (dl 2,850,000 2,850




